DHAFHAVBRDIADFREEL I LDMETRERE

E% KE i REHE (Barke)

A% No EMERTR U FRE A% maap | ERA agg IR ELOL wOL wSOL

HEFEUA

BEHR | AsPfEiEsE | BuE=2U0Y FHAY 4/15 6/10 —
HHR FEN B BBE=4YLY FHAY 4/18 6/10 —

356 AFE EEE Y JHA 5/23 5/24
357 | BFR FEFRI/NAFIR JHA 5/23 5/24
358 | EFR HFHE/NATFE JHA 5/23 5/24

3850 EFE EOWEX JHA 5/23 5/24

3851 AFER HFHEI/NFRE JHA 5/23 5/24

3852 EFR FEFRT/NFRIR JHA 5/23 5/24
480 AFE FHE/NATFE JThA 6/1 6/2
481 AFE HEHE/NAFIE JKEEMI G JHACHBELIER) 6/1 6/2
482 AFE EHEMEH JHA 6/1 6/2
483 | EFER AEHZFif JHA 6/1 6/2
484 | EFR FEHEI/NAFIE JHA 6/1 6/2
485 AFE FERTIET IR JHA 6/1 6/2
486 AFE EEETRETIIR JHA 6/1 6/2
487 | EHFER EOWEX JKEEMI G JHACHBLIER) 6/1 6/2

F14 REE | HBEITEANRS JHA 6/7 6/10 2
601 | BEFE ST JhA 6/14 6/15
602  HAFE EHETER) JKEMI S THA(HELIERE) 6/14 6/15
603  EFR R JhA 6/14 6/15
604  HFE AEH(AE) JHA 6/14 6/15
605  AFR ABEH(AE) JKEEMI G JHACHBELIER) 6/14 6/15

12/21] 4949 EiHE ik =B JHA 12/13 | 12/21

1/13 EFR FRE & (NIHS) JhA 12/12

1/13 AFR FRB 5 (NIHS) JhA 12/12

1/27 5680 EIHE SAUBE #hE JHA 1/21 1/27 0.54 0.54

1/27 5681 EiHE SULBE =B JHA 1/21 1/27

1/27 5682 EIHIE EENE =B JHA 1/21 1/27

1/27 5683 EiHE HEIE =B JHA 1/21 1/27
6096 EHE SALBHAEET £iRE JHA HE-E 12/13 | 12/27 ND <20 <20
6097 BEHE M= RERTEE £ifE JhA EiE-& 12/13 | 12/27 ND <20 <20
6099 EHE A&t LT £iRE JHA HE-E 12/14 | 12/27 ND <20 <20
6102 AFE | EimAT/NRETRH £ifE JHA EiE-4 1/19 1/20 ND <20 <20
6103 EFE BOmHAZ 2ifE JhA HhE-4 1/19 1/20 ND <20 <20
6104 AFE NP EBEFH A £ifE JHhA EiE-4 1/19 1/20 ND <20 <20
6105 AFE | EiEET/NRETREH £iRE JHA HiE-4E 1/19 1/20 ND <20 <20
6106 AFE K i i R UG BT 2ifE JHA EiE-4 1/19 1/20 ND <20 <20
6107 SF 8 | TEAFEILBEBTXR 2ifE JHA HE-E 1/19 1/20 ND <20 <20
6108 AFE | AMEW=[EEEE 2iRE JHA EiE-4 1/19 1/20 ND <20 <20
6109 AFR EOWEX £iRE JHA HE-E 1/19 1/20 ND <20 <20
6110, AFE NP EBEF H AT £ifE JHA EiE-4 1/19 1/20 ND <20 <20
6111 EFR | EaimEt/NRETRH £iRE JHA HE-E 1/19 1/20 ND <20 <20
6113 EWE AEHILLET+H=E 2iRE JHA BE-E 1/23 2/6 ND <20 <20
6114 EHEHE EEH £iRE JHA HE-E 1/23 2/6 ND <20 <20
6115 EHE S BT RESRET 2ihE JHA BE-E 1/28 2/6 ND <20 <20
6116 EHE SALBHAEET £iRE JHA HIE-E 1/28 2/6 ND <20 <20

2/10 1 6210 EiHE BT =B JHA 2/7 2/10

3/2 /7080 AFE ik =B JHA 2/26 3/2

3/6 iR AERHNTE) |fEsE&EHE) JHA 3/6

3/13 EHE &N (WEE) mEsEEE) JHA 3/13
8440 EIHE ST 2iRE JHA EE 1/25 2/13 ND <20 <20
8441 EHE SABHAS £ifE JHA #IE 2/2 2/13 ND <20 <20
8442 EIHE SAlBH R 2iRE JHA =B 2/2 2/13 ND <20 <20
8443 EIHE SAlB T RESRET 2ifE JHA #IE 2/2 2/13 ND <20 <20
8446 EWE ATE=REETEZEI 2ifE JHA =B 2/3 2/13 ND <20 <20
8447 EWE | AEE=[EETIUE £iRE JHA #IE 2/3 2/13 ND <20 <20
8448 EWE AEWIALE+=E 2ifE JHA =i 2/3 2/13 ND <20 <20
8449 EFE | ET=HETILHET £iRE JHA #hE 1/217 2/13 ND <20 <20
8450 AFR | AMEM=IEETHEX £ifE JHA =B 2/8 2/13 ND <20 <20
8451 HFE NP EBEFHH £iRE JHA #IE 2/8 2/13 ND <20 <20
8455 EIHE SABTHER 2iRE JHA =B 2/14 2/20 ND <20 <20
8456 | EIHE SABHAS 2ifE JHA #hE 2/14 2/20 ND <20 <20
8457 EWE | AHHmR=REETIVE 2ifE JHA =B 2/14 2/20 ND <20 <20
8458 EWE ATHE=EEIFE £iRE JHA #hE 2/14 2/20 ND <20 <20
8459 | EIHE SAlBH R 2iRE JHAGHEL -8’ T 2/17 2/22 ND <20 <20
8460 EWE | AEE=[EETIUE £ifE THACHEL-ER) T 2/17 2/22 ND <20 <20
8461 EWE | KXEE=[ERTIUE 2iRE JHAGHEL-18E) T 2/17 2/22 ND <20 <20




8462 EWE ATE=REETEZEI £ifE JHAGHEL -5’ T 2/17 2/22 ND <20 <20
8463 EIHE S TAG £iRE JHA #hE 2/18 2/22 ND <20 <20
8464| EIE SABH AR 2iRE JHA =B 2/18 2/22 ND <20 <20
8465 EIHE SAlB T RESRET £iRE JHA #hE 2/18 2/22 ND <20 <20
8466 EIHE SAlBH R 2ifE JHA =B 2/18 2/22 ND <20 <20
8467 EWE SABHAS 2ifE JHA #hE 2/18 2/22 ND <20 <20
8468 EWE | KEE=[ERTIUE 2iRE JHA EE 2/18 2/22 ND <20 <20
8469 EWE ATHE=REETEEI £iRE JHA #hE 2/18 2/22 ND <20 <20
8471 EWE AEWIALE+=E 2ifE JHA EE 2/19 2/22 ND <20 <20
8475 EHE ST HEER 2iE JHA(FL) T 2/23 2/29 ND <20 <20
8476| EIHE ST 2iRE JHAGHEL -8’ T 2/24 2/29 ND <20 <20
8477 EWHE SABHAS 2iE THACHEL-ER) T 2/24 2/29 ND <20 <20
8478 EWE | KEE=[ERTIUE 2iRE JHA(HEL -8’ T 2/24 2/29 ND <20 <20
8479 EWE ATE=REETEEI 2ifE THACHEL-ER) T 2/24 2/29 ND <20 <20
8482 EWE AEMILLET+=RE £ifE JHAGHEL -8’ T 2/27 2/29 ND <20 <20
8484| HFR TEAREBEAH £iRE JHA #IE 2/28 3/1 ND <20 <20
8485 AFR ZRTFEIGET £ifE JHA E=1 ] 2/28 3/1 ND <20 <20
8486 AEFER K i T R U BT £iRE JHA #IE 2/28 3/1 ND <20 <20
8487 EFE | THAFEILAETAE £ifE JHA E=1 ] 2/28 3/1 ND <20 <20
8488 AFE | THAFBAREI/NK £iRE JHA #IE 2/28 3/1 ND <20 <20
8489 EFE | EfImHETILHET 2ifE JHA =B 2/29 3/1 ND <20 <20
8490 AFE | KMET=REETZEE £iRE JHA #IE 2/29 3/1 ND <20 <20
8491 AFE ZRTEE £ifE JHA E=1 ] 2/29 3/1 ND <20 <20
8492 HFR EOWEX 2iE JHA #IE 2/29 3/1 ND <20 <20
8493 EIE SABTHER 2iRE JHAFL) T 3/1 3/17 ND <20 <20
8494 EHE SAlB T RESRET 2iE THACHEL-ER) )i 3/1 3/7 ND <20 <20
8495 EIHE SABTHER 2ifE JHAGHEL -8’ T 3/1 3/17 ND <20 <20
8496 EIHE SABHAS £iRE THACHEL-ER) T 3/1 3/7 ND <20 <20
8497 EWE | KEE=[ERTIUE 2iRE JHAGHEL -5’ T 3/2 3/7 ND <20 <20
8498 EWER ATFE=FERTEE)I £ifE THACHEL-ER) T 3/2 3/7 ND <20 <20
8499 | EIE S BT RESRET 2ifE JHA =i 3/2 3/7 ND <20 <20
8500 EIHE SALBHER 2ifE JHA #IE 3/2 3/7 ND <20 <20
8501 | EIE SABHAS 2ifE JHA =B 3/2 3/7 ND <20 <20
8502 EWE | AEE=[EETIUE £iRE JHA #IE 3/2 3/7 ND <20 <20
8503 EIE ATH=REETEEI 2iRE JHA =B 3/2 3/7 ND <20 <20
8506k EWE AEMILLE+=E £iRE THACHEL-ER) T 3/3 3/7 ND <20 <20
8507 EWE AEWILE+=E 2ifE JHA E=1 ] 3/3 3/7 ND <20 <20
8508 EIHE SAlB T RESRET £iRE THACHEL-ER) T 3/11 3/15 ND <20 <20
8509 | EIHE SAlBH R 2iRE JHAGHEL -8’ T 3/11 3/15 ND <20 <20
8510 EE SABHAS 2iE THACHEL-ER) T 3/11 3/15 ND <20 <20
8511 EWE | KEI=FERTIUE 2ifE JHAGHEL -8’ T 3/11 3/15 ND <20 <20
8512 EWE ATHE=REETEEI 2ifE THACHEL-ER) T 3/11 3/15 ND <20 <20
8513| EIE SABTHER 2iRE JHAFL) T 3/11 3/15 ND <20 <20
8514 EWE | AEE=[ERETIUE £iRE JHAFL) fnT 3/12 3/15 ND <20 <20
8515| EIKE BEH 2iRE JHAGHEL -8’ T 3/12 3/15 ND <20 <20
8517 EWE AEMILLE+=E £iRE THACHEL-ER) T 3/12 3/15 ND <20 <20
8518 EFE | EfImMETILHET 2iRE JHA EE 3/15 3/19 ND <20 <20
8519 AFER K i T R U BT £iRE JHA #IE 3/15 3/19 ND <20 <20
8520 EFE KmEmH=REETHZER 2ifE JHA =B 3/15 3/19 ND <20 <20
8521 AFE | THAFELAET 2iE JHA #IE 3/15 3/19 ND <20 <20
8522 HAFE BEEHMER 2ifE JHA =B 3/15 3/19 ND <20 <20
8523 AFR TEAREBEAH £iRE JHA #IE 3/15 3/19 ND <20 <20
8524| EFE ZRTEFHE 2iRE JHA EE 3/17 3/19 ND <20 <20
8525 HFE ERTFEEGET £iRE JHA #E 3/17 3/19 ND <20 <20
8526 EFE | THAFHAEREI/NK 2iRE JHA =B 3/17 3/19 ND <20 <20
8527 AFE | AKMET=EESEE £ifE THACHEL-ER) T 3/17 3/19 ND <20 <20
8528| HFE EEE Y £ifE JHAGHEL -8’ T 3/17 3/19 ND <20 <20
8529 EFE  THFELARIXR £iRE THACHEL-ER) T 3/20 3/21 ND <20 <20
8530 AFE K i R UG BT 2ihE JHAGHEL -5’ T 3/20 3/21 ND <20 <20
8531 HFR K i T R U BT £iE THACHEL-ER) T 3/20 3/21 ND <20 <20
8532 EIE SALBHATET 2ifE JHAGHEL -8’ T 3/16 3/26 ND <20 <20
8533 EWE AEMILE+=E £iRE JHA 3/17 3/26 ND <20 <20
8534| EIE S BT RESRET 2iRE JHAGHEL -8’ T 3/19 3/26 ND <20 <20
8535 EIHE S TTAE £ifE THACHEL-ER) T 3/19 3/26 ND <20 <20
8536| EIE SALBHATE 2iRE JHAGHEL -8’ T 3/19 3/26 ND <20 <20
8537 EHE SAlB T RESRET £iRE JHA 3/20 3/26 ND <20 <20
8538| EIE SALBHATE 2iRE JHA 3/20 3/26 ND <20 <20
8539 EWE | AEE=[EETIUE £ifE JHA 3/20 3/26 ND <20 <20
8540 EIHE SABTHER 2iRE JHAFL) T 3/20 3/26 ND <20 <20
8541 EWE | AEE=[EETIUE £iRE JHAFL) T 3/20 3/26 ND <20 <20
8543 EWE AEMILLET+=RE £ifE JHAGHEL -8’ T 3/20 3/26 ND <20 <20
8546 Ei{E SALBTRIE SifE ik 3/21 3/26 ND <20 <20
8547 EWE ATH=REETEZEI 2iRE JHA 3/21 3/26 ND <20 <20
8548 EWE ATHE=REETEEI 2ifE THACHEL-ER) T 3/21 3/26 ND <20 <20
8549 EWE | KEE=[ERTIUE 2iRE JHAGHEL -8’ T 3/21 3/26 ND <20 <20
8550 HF R EEE Y 2ifE THACHEL-ER) T 3/26 3/29 ND <20 <20




8551| HFE EiniES £ifE JHAGHEL -5’ T 3/27 3/29 ND <20 <20
8552 HFE  THAFELARIXR £ifE THACHEL-ER) T 3/27 3/29 ND <20 <20
8553 HF R ZRTFEIEET £ifE JHAGHEL -8’ T 3/27 3/29 ND <20 <20
8554 AFE | KMET=EEISEE 2ifE THACHEL-ER) )i 3/27 3/29 ND <20 <20
8555 EFE | AKMEH=RERTHEE £ifE JHAGHEL -5’ T 3/27 3/29 ND <20 <20
8556 AFE | KMET=REETEE 2ifE THACHEL-ER) T 3/27 3/29 ND <20 <20
8557 HF R TEAREBE M £ifE JHAGHEL -8’ T 3/27 3/29 ND <20 <20
8558 AHFE K i T R U BT £ifE THACHEL-ER) )i 3/29 3/29 ND <20 <20
8559| AFE K i R UG ET £ifE JHAGHEL -8’ T 3/29 3/29 ND <20 <20
8560 HFE L EA{RERKHEET 2iE THACHEL-ER) T 3/29 3/29 ND <20 <20
8561 EHFR L EA{RERKHEET £ifE JHAGHEL -8’ T 3/29 3/29 ND <20 <20
8562 HFR K T FR U BT 2iE THACHEL-ER) T 3/29 3/29 ND <20 <20
8563 HFIR NP EBEFH AT £ifE JHA(HEL -8’ T 3/29 3/29 ND <20 <20
12/7 4611 =B WEE =B JHA 12/5 12/7
1/20 5489 EIHIE AL EE JHA 1/17 1/20
1/20 | 5490 EIHE WEE =B JHA 1/18 1/20
1/27 5684 EIHE AL EE JHA 1/20 1/27
6098 EHE AET/NHE £iRE JHA HE-E 12/14 | 12/27 ND <20 <20
2/17 6476 EiE AL EE JHA 2/14 2/17
3/2 | 7052 ERE YR =B JHA 2/21 3/2
8444 | TR BEHDMHE 2iRE JHA =i 2/3 2/13 ND <20 <20
8445 EWE | EWBtrESHE £ifE JHA #hE 2/3 2/13 ND <20 <20
8470| EIHE BEHDMHE £ifE JHA =B 2/19 2/22 ND <20 <20
8472 EIHE AETINEE 2ifE JHA #IE 2/19 2/22 ND <20 <20
8473 EWE | BB trIEERE £ifE JHAGHEL-18E) T 2/19 2/22 ND <20 <20
8474 EWE AET/NHE 2ifE THACHEL-ER) T 2/19 2/22 ND <20 <20
8480 EWE | BB trIEERE £ifE JHAGHEL -8’ T 2/25 2/29 ND <20 <20
8481 EHE AET/NHE £ifE THACHEL-ER) T 2/217 2/29 ND <20 <20
8504 EWE | BB trIEERE £ifE JHAGHEL -8’ T 3/3 3/7 ND <20 <20
8505 EifE AET/NHE 2iE THACHEL-ER) T 3/3 3/17 ND <20 <20
8516 EIHE BEHPMHE £ifE JHAGHEL -8’ T 3/12 3/15 ND <20 <20
8544 EHE AET/NHE 2ifE THACHEL-ER) T 3/20 3/26 ND <20 <20
8545 EWE | BB trIEERE £ifE JHAGHEL -8’ T 3/21 3/26 ND <20 <20
FbET-HEE T -FiEET
"RER FHhETS9EME# | GREENPEACE JHA 5/4 5/26 149 15.6 7.7 7.9
F1 =EER Frih BT JHA 6/1 6/10 18 60
WhEm(EERKXLYIL)
3469 313 | fRBER | LWhEmAHEH JhA 5/16 5/19 380 1200 590 610
F11 wEER LWhEHmEHS 6/2 6/10 190
F13 BER | LWhEhmAZEE 6/2 6/10 110
F17 RBEE | LWbhEHAZES THA 6/23 7/4 3 21
1124 RER | LWbhEMHEZAM JHA 7/15 7/20 7 35 36
1327| f2BR LWhEHmA i+ JHA 7/21 8/3 58 30 28
BERE | LWbhETA/EHR | GREENPEACE JHhA(ANT) 9/14 10/5 85 39 46
3/14| 7488 fEBR ULhHhEWMECAR) THA 3/5 3/14 12 12
WhET (EEKLYRR)
3470 314 | fBRBER | UWbhEmTHAHR 5/16 5/19 140
F5 wEER LWhEH %K% 6/2 6/10 25
F7 "RER WhEMIIAE 6/2 6/10 99
1125 RBER | LvbhEm/NAEHS JHA 7/15 7/20 56 24 32
1216 RER | LvbhEm/NAEHS JHA 7/25 7/21 41 15 26
2/15 | 6415 fBBR | LhEH/NECRR) THA 2/12 2/15
3/28 8185 MRER L\bhEH/NEEGRER) JHA 3/22 3/28
3750 367 KIKE dexREH JKEEMI G EIETO DA 5/21 5/24 46 44
3/28 | 8327 WIKIE bk i 5 JHA 3/22 3/28 1.66 0.66 1
Him-RiER-O=b4hmH
3296 301  RKE B JKEEMI G EIEO DA 5/16 5/17 21
3297 302 | RKE B JKEMI S BEIhA 5/16 5/17 17 14
3/26 | 7971 KR Himith sk JHA 3/21 3/23
3/28 1 8328 HIKR | Ufbhhmiiic JHA 3/22 3/28 0.73 0.73
3/30 | 8419 RIFE B Ik JhA 3/26 3/30 1.6 0.7 0.9
3/30 | 8420 WK Birmithsk JHA 3/217 3/30
3/30 | 8421 WIKIE B Ik JhA 3/217 3/30 1.6 0.9 0.7
XiﬁE‘BT -$2MET™H




\
BFLIFE
1/23 | 5511 | #&)I|8 F it JHA 1/18 1/23
2/9 | 6125 #ZEJIIE HAE JHA 4 2/6 2/9
2/9 | 6126 #HZEJIE E: 3=f:ubm =B JHA S 2/6 2/9
2/9 | 6127 #ZJIE /INEERTRF)IHE =B JHA 4 2/6 2/9
2/23 | 6673 #XJI|R B Fithst JHA 4 2/20 2/23
2/23 | 6674 HZE)IIE EFTH =B JHA 4 2/20 2/23
2/23 | 6675 #MX)I|E 1) =B JHA 4 2/20 2/23
3/2 | 7019 #ZEJIIE tESih sk =B JHA 4 2/21 3/2
3/8 | 7271 #F)I|E IO EHE =B JHA 3/4 3/8
3/23 | 7881 #ZEJIE SETIEMME JHA 3/15 3/23
HRE
1/10 | 5223 | #%)I|18 FEIKHh 5 JhA 1/4 1/10
1/10 | 5228 #&ET R THA 1/4 1/6 1.1 1.1
1/25 | 5443 | FEET TR+ JHA 1/18 1/20
1/30 | 5858  fHZ3)I|E SHEH%E ERS T A 4 1/25 1/30
1/30 | 5859 | #Z)I|IR S HEHE EE JHA 4 1/25 1/30
2/24 | 6698 FIFEER ERRIS JHA 2/20 2/24
2/24 HEJIR BAEEM FadE g (FEE) EIhA 1/6
3/5 | 6998 #EET R THA 2/20 2/27
3/12 | 7277 | #HEINE TR+ JHA 3/7 3/8
Z Dt

FRe HETHES BmE=4ULY JHA 4/5 6/14 0.38 0.052 0.052

12/28 =1 RIHA 12/7
2/10 EER JhA 4 1/31

6505 FAEHE BETMFEZLA E=1 ] JHA 2/20 2/21
2/24 (=T &P il (BR) JHA &£ 11/14
2/24 mER U Tilie) Fad s (FEE) JHhA &£ 11/18
2/24 (=T el ol () THA 4 12/19
2/24 mER U Tilie) FadE s (FEE) THhA &£ 1/19
2/24 (=T el il (HER) THA 4 1/23
3/2 wER INRBTH JHA 4 2/27
3/5 EER & P9 s gk =B JHA 2/29
3/14 wER U Tilie) i (BR) JHA T 2/28
3/30 BH[E R RIS T [Eput =% JHA 3/2

8452 Z=ER | BPIEERATHYER 2iRE JHA EE 1/11 2/16

8453 Z=ER | EBPEAHREE £iRE JHA =B 1/12 2/16

8454 =ER | EPBIAEHBINER 2iRE JHA =B 1/12 2/16
R RE )
4544 dtiEE A NATmEEE SHEREEDAE JHA 5/12 6/7 -
4545 LiEE FERE SERFERLAE JHA 5/9 6/7 0.22 —
4546 dLiEE TEHRRIE SHEREEDAE JHA 5/9 6/7 —




Cs-134 + Cs—-137(Ba/kg)
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